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Fp =0.02 -C = 0.02 * 1077.56 = 21.55 kN
C =oy-A/2 = 2685 x 8337 / 2 = 1077566 N — 1077.56 kN
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(GtEEH) - MEZEERME LTERY S GRILE> FI0T  To = 500 [N/mm?] 1 EEER
- RZO KIS0 AHEHRBIAAER Y £ < BB E F = 900 [N/mm2]
[(BREAHERDOFE L D]
<PTERIM> | <E&ARIL > | <GUSSET> TEAHRI 58 B>
k=5C/Lb R=fFst-fa ob/gft oc/fc + ob/fb
No. 1 [Test-BL] 0.106 + 0.447
K H- 400x 200x 8.0x13.0x 13 F= 235 (S8S400) M= 5926.61 | k= 50.263 | R= 32.53 0. 630 = 0.553
INR H- 250x 125x 6.0x 9.0x 8 F= 235 (SS400) Fp= 21.55| = 1.683| = 45.23 = 1.00 = 1.00
GUSSET: 6. 0x200.0 BOLT:M16 &%k 2x 2 (F10T) C = 1077.56 oK oK oK OK




